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AS Economics Component 2

All Candidates' performance across questions

Question Title Mean Max Mark Attempt %

1a 118 2.4 1.2 4 61.2 100

Question

0 10 20 30 40 50 60 70 80 90 100
Facility Factor %



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1. (b) Using diagram, analyse reasons why oil prices are volatile. [6]
AO1 AO3
Band
4 marks 2 marks
Are diagrams correct? Are reasons identified and explained?
4 marks
Excellent understanding
3 Two diagrams or one diagram showing
both demand and supply changes and
takes into account elasticity of supply
and demand
2-3 marks 2 marks
Good understanding Good analysis
Top of band: One diagram showing a Developed lines of analysis making
good understanding with demand use of economic theory to explain why
changing leading to a change in price prices can be volatile in terms of
OR Supply changing leading to a unexpected changes in demand/supply
5 change in price — but taking into
account either inelastic supply or
inelastic demand
Bottom of band: one diagram showing a
change in demand or supply
One error on labelling the diagram
allowed
1 mark 1 mark
Limited understanding Limited analysis
One diagram showing limited Partial analysis, but its use of
understanding. For example, a diagram | economic theory is superficial
1 with a double shift
either focusing on simple demand or
supply shifts
OR why demand and supply is so
inelastic
0 0 marks 0 marks
No valid diagram No valid analysis

© WJEC CBAC Ltd.
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jon

Sticky Note

Excellent understanding as show by the two correct diagrams that take into account the inelastic nature of PED and PES and that there can supply and demand fluctuations. explanation of PED occurs but not PES and the changes of demand/supply are general rather than specific volatile factors in the oil market.  
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Sticky Note

The answer contains one diagram that takes into account PED being inelastic thus showing good understanding. There is some limited explanation of why PED is inelastic but no volatile supply factor identified or analysed. 
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Sticky Note

Although the answer mentions PES there is not any use of the inelastic nature of it. The start of the answer starts of with exchange rates which then becomes a factor that affects the demand. It is not a convincing argument but awarded AO3 limited benefit of doubt. There is a a diagram showing a single shift with no elasticity taken into account so achieved AO1 band 2 low level. 
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Answer all questions.

GLOBAL OIL PRICES PLUNGE
Oil prices have been volatile since 2014.

OIL PRICE ($ per barrel)
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For many African economies oil exports are an important element of GDP. Nigeria is

Africa’s largest oil producer, pumping over two million barrels a day with oil exports making

up around 14% of GDP and 90% of total export revenue. Nigeria’s oil resources have
attracted investment by western oil multi-nationals including Shell, Chevron, Mobil and Total.
Western multi-nationals producing fast-moving consumer goods such as Cadbury, Coca-
Cola and Guinness have also invested in the country as Nigeria’s GDP increased. Multi-
national construction and infrastructure firms have helped the Nigerian Government build
infrastructure. Often, multi-nationals move management teams from their domestic operations
to work in the new countries where they are investing.

In 2016 Nigeria suffered a fall in GDP growth, when both the price and output of oil fell
significantly, with prices falling to less than $30 a barrel. At the beginning of 2018 GDP grew
at 1.95% but then slowed to 1.5% in the second quarter as oil prices had increased. However,
they still remained historically low and production fell. A decline in oil price can have a
negative effect on the Nigerian economy both directly and through the impact on the exchange
rate for the naira (the Nigerian currency). To avoid a harmful depreciation the Nigerian Central
Bank intervened to keep the exchange rate above the new equilibrium level to help Nigerian
households and businesses.

© WJEC CBAC Ltd. (B520U20-1)





Selected Nigerian macro-economic data 2014-2019

2019
2014 2015 2016 2017 2018 forecasted
Sffv'vﬁ.[’r':ti""“a' 6% 4% 1% —1.5% 1.5% 2%
Nigerian inflation 8% 8% 9.5% 17.5% 15% 11.1%

rate

Nigerian exchange
rate Nigerian naira: 158:1% 192:1% 253:1% 310:1% 305:1% 305:1%
US dollar ($)

Budget deficit as %

of GDP -0.9% ~1.6% 21% | -5.29% | -5.14% —4.15%
OGA,°C‘,'fE;"D"|‘,e"t debtas | 1550 | 4320 | 176% | 213% | 2477% | 26.85%

Ease of doing
business survey*

ranking: Country Not
Ranking 170 170 169 145 146 available
(1=easiest,

190=hardest)

B520U201

03

*ease of doing business is determined by how easy it is to start a business, gain construction
permits, obtain electricity connection, ease of gaining credit, registering property and the regulatory
environment. Rankings are: 1-97 Easy, 98—147 Medium, 148—190 Hard.

Since 2016, successive government budgets have focused on addressing areas of the economy

that had previously not been prioritised. In 2018 the Nigerian President signed a budget of 9.1 trillion
20 Nigerian naira, the nation’s biggest yet, which focused on increasing investment in roads, rail, ports

and power to address the continued decline of infrastructure. The central bank pledged to lend

at lower interest rates aimed at financing projects in agriculture and manufacturing. However, the

central bank has kept its base interest rate at a record high of 14% since 2016 to fight high inflation.

Nigeria has a large trade surplus in oil whereas many other countries have a trade deficit of oil.

(b) Using diagrams, analyse reasons why oil prices are volatile. [6]

© WJEC CBAC Ltd. (B520U20-1) Turn over.
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1. (e)

Outline possible reasons for a country’s GDP being greater than GNP.  [4]

AO1: 4 marks

Marks
2nd reason outlined 1
One reason outlined 2
Understanding of difference between GDP and GNP 1

Indicative content:

AOL1 for reason and development (development does not need to be
contextualised but may be used to help support their reason)

GNP and GDP both reflect the national output and income of an economy but the
GNP (Gross National Product) takes into account net income receipts from
abroad. (GDP + net income from abroad)

Repatriation of profits: If a multinational produces goods/oil in Nigeria, this
production will be counted towards Nigerian GDP. However, if the mutli-national
firm sends profits back to shareholders outside of Nigeria, then this outflow of
profit is subtracted from GNP. Nigerian nationals don’t benefit from this profit
which is sent back to Japan.

Context may be used to back up reasoning: If a Multi-national firm from Ireland
(Guinness) makes a profit from companies located in Nigeria, then if this profit is
returned to nationals within the home country of the multi-national, then this net
income from overseas assets will be added to Ireland GNP.

International factors of production: GNP takes into account the value of products
created by Nigeria factors of production at home and abroad and this is less than
the value of goods and services produced in Nigeria by Nigerian factors of
production and international factors of production.

© WJEC CBAC Ltd.
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Sticky Note

This answer shows some understanding of GNP but lacks precision on the difference and so the support in the outline is less precise than required. 
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Sticky Note

This was a good response for why GDP can be higher than GNP
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Sticky Note

This answer started off with a correct statement on GDP but then the understanding and outline of how GNP is different appeared inaccurate. For limited AO1 accurate definitions or understanding of each was required. 
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Answer all questions.

GLOBAL OIL PRICES PLUNGE
Oil prices have been volatile since 2014.

OIL PRICE ($ per barrel)
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For many African economies oil exports are an important element of GDP. Nigeria is

Africa’s largest oil producer, pumping over two million barrels a day with oil exports making
up around 14% of GDP and 90% of total export revenue. Nigeria’s oil resources have
attracted investment by western oil multi-nationals including Shell, Chevron, Mobil and Total.
Western multi-nationals producing fast-moving consumer goods such as Cadbury, Coca-
Cola and Guinness have also invested in the country as Nigeria’s GDP increased. Multi-
national construction and infrastructure firms have helped the Nigerian Government build
infrastructure. Often, multi-nationals move management teams from their domestic operation
to work in the new countries where they are investing.

In 2016 Nigeria suffered a fall in GDP growth, when both the price and output of oil fell
significantly, with prices falling to less than $30 a barrel. At the beginning of 2018 GDP grew
at 1.95% but then slowed to 1.5% in the second quarter as oil prices had increased. Howevel
they still remained historically low and production fell. A decline in oil price can have a
negative effect on the Nigerian economy both directly and through the impact on the exchanc
rate for the naira (the Nigerian currency). To avoid a harmful depreciation the Nigerian Centre
Bank intervened to keep the exchange rate above the new equilibrium level to help Nigerian
households and businesses.

© WJEC CBAC Ltd. (B520U20-1)





Selected Nigerian macro-economic data 2014-2019

(1=easiest,
190=hardest)

2019
2014 2015 2016 2017 2018 forecasted

Real GDP annual o o o 4o o o
growth rate 6% 4% 1% 1.5% 1.5% 2%
Nigerfan inflation 8% 8% 9.5% | 17.5% 15% 111%
Nigerian exchange
rate Nigerian naira: 158:1$ 192:1$ 253:1% 310:1$ 305:1% 305:1%
US dollar ($)

_p o
Budgetdeficitas™ | _0.9% | —16% | -21% | -520% | -514% | -415%
.,G/o°(;’f£;"D"|‘,e"t debtas | 1550, | 1320 | 176% | 213% | 2477% | 26.85%
Ease of doing
business survey*
ranking: Country Not
Ranking 170 170 169 145 146 available

*ease of doing business is determined by how easy it is to start a business, gain construction
permits, obtain electricity connection, ease of gaining credit, registering property and the regulatory

environment. Rankings are: 1-97 Easy, 98—147 Medium, 148—-190 Hard.

Since 2016, successive government budgets have focused on addressing areas of the economy
that had previously not been prioritised. In 2018 the Nigerian President signed a budget of 9.1 trillion

20 Nigerian naira, the nation’s biggest yet, which focused on increasing investment in roads, rail, ports

and power to address the continued decline of infrastructure. The central bank pledged to lend
at lower interest rates aimed at financing projects in agriculture and manufacturing. However, the
central bank has kept its base interest rate at a record high of 14% since 2016 to fight high inflation.

Nigeria has a large trade surplus in oil whereas many other countries have a trade deficit of oil.

(e) Outline possible reasons for a country’s GDP being greater than GNP.

[4]
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2. (e) (i) | Using the data, outline how plastic fragments can create external costs. [4]
AO1 AO2
Band
2 marks 2 marks
Is understanding clear? Is the answer in context?
2 marks 2 marks
Good understanding Good application
2
Clear understanding of external costs Good use of the data to support how
plastic fragments create external costs
1 mark 1 mark
Limited understanding Limited application
1
Weaker understanding of external costs | Limited use of the case to support how
plastic fragments create external costs.
0 0 marks 0 marks
No valid understanding No valid application

Indicative content:

AO1
Shows an understanding of an external cost

An external cost occurs when producing or consuming a good or service imposes a cost upon a
third party not involved in the production or consumption of that good.

If there are external costs in consuming a good (negative externalities), the social cost will be
greater than the private cost

AO2
The external cost can be in the form of physical, non-physical harm or financial penalty on a 3™

party.

Potential for micro-plastic fragment pollution in edible tissues of commercial fish which can then
enter the food chain.

Micro-beads washed through the water system out to sea with potential to result in increased
plastic in the edible tissues of commercial fish and enter the food chain.

Danger of sea birds and larger marine creatures like turtles, dolphins and seals, becoming
entangled in plastic bags and other debris. Thus, causing death and less biodiversity.

Sea-life may mistake plastic for food. Plastic bags, once consumed, cause internal blockages
and usually result in death. Larger pieces of plastic can also damage the digestive systems of
sea birds and whales, and can be potentially fatal leading to less biodiversity.

Plastic in the food chain can then be consumed by humans. Although no long-term evidence of
any health effects as yet, there is potential for long term health impacts causing a cost to either
the individual that did not consume the initial plastic directly or to the government.

A lack of biodiversity may have long term impacts on the choice of diets for a 3" party.

Impact on biodiversity may require 3" parties such as zoo’s to take more protective actions,
increasing costs.

© WJEC CBAC Ltd.
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No valid application

No valid analysis

2. (e) (ii) | To what extent are the steps taken by the UK Government to reduce plastic
pollution likely to solve the market failure? [10]
AO2 AO3 AO4
Band
2 marks 4 marks 4 marks
Is the answer in Are the impacts of the Is the answer debated and
context? steps taken to solve the judged?
problem explained?
4 marks 4 marks
Excellent analysis Excellent evaluation
Detailed lines of analysis | Comes to a reasoned
explaining how two judgement as to the extent
actions taken by the UK | that the steps taken by the UK
3 govt to decrease global govt to decrease global plastic
plastic pollution are likely | pollution are likely to solve the
to solve the market market failure
failure
The evaluation is clearly set in
All stages in the process | the context
are fully explained
2 marks 2-3 marks 2-3 marks
Good application Good analysis Good evaluation
The data is used Developed lines of Counter arguments are
effectively to analysis explaining how | present and developed
support the two actions taken by UK
argument in the govt decrease global Judgement(s) as to the extent
analysis plastic pollution are likely | to which the steps taken by
2 to solve the market the UK govt to decrease global
failure plastic pollution are likely to
solve the market failure
Some stages in the
process are not fully Answer may have brief end
explained judgment
or one action with
detailed explanation
1 mark 1 mark 1 mark
Limited application | Limited analysis Limited evaluation
The data is used, There is a limited chain Counterpoints are present, but
but its use is of reasoning, but its use | none of them are developed.
1 underdeveloped, of economic theory is
taking the form of underdeveloped; Judgement (s) that is/are
occasional explanations are unsupported will be in this
references rather superficial band
than forming strong
supporting or a supported one-sided
evidence judgment
0 0 marks 0 marks 0 marks

No valid evaluation

© WJEC CBAC Ltd.
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Indicative content:

AO2
UK government actions; the government subsidies for greener processes. the plastic bag
tax, the banning of microbeads, tax on plastic packaging.

Use of the data to suggest although the government subsidies are in the millions, in the
context of government spending the amount proposed is very small.

Use of the data to appreciate that the actions taken are only on a relatively small % of plastic
pollution sources

Use of the data to appreciate that the UK is one country of a relatively large number of
polluters that pollute at a greater rate than the UK

AO3/AO4
Understanding the market failure is the overconsumption or overproduction of plastic. A
diagram may be used but is not necessary.

The market failure creates externalities and external costs as the social costs are greater
than social benefits, creating welfare loss.

The plastic bag tax has encouraged a decrease in the overuse of plastic bag and so
decreasing the number of waste plastic bags thrown away and potentially into the sea.

But there are still a large number of plastic bags in circulation.

The banning of micro-beads should lead to firms using more environmentally friendly
ingredients, leading to less plastic in the production process and output nearer the socially
optimum level

But firms may switch to different types of products for micro beads or a different definition of
plastic not covered by the government ban.

Other government initiatives such as the government grants could encourage different types
of plastic and more recycling but this does not solve the large issue of consumption

The tax on the manufacture and import of plastic packaging which contains less than 30%
recycled plastic could lead to higher costs for businesses and so higher prices for customers
and lower demand nearer to the socially optimum level but this depends on PED — it may be
that firms pass on the higher prices to consumers lowering consumer surplus and not
leading to a great decrease in demand

Eliminating unnecessary plastic in schools by replacing items such as plastic straws, bottles
and food packaging with sustainable alternatives by 2022. By encouraging the lower
demand for plastic it could decrease the demand to nearer to the socially optimum level but
schools only make up a small % of the total demand - although education of those at school
may have longer term impacts.
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Other AO4
The steps the UK govt has taken is only on a small % of plastic items produced. There is still
a large amount of single-use plastic used for food packaging for example.

The steps taken in the UK may help lower the use of some of the plastic use in the UK but in
terms of global use of plastic it is insignificant.

The data shows that in terms of global plastic pollution the UK is one producer out of large
number of countries — China, India, USA and South America appear to be large producers

and without steps to limit plastic pollution in these countries then steps the UK govt takes are
likely to only lead to a small impact globally.
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Sticky Note

The answer shows a good understanding of external costs in terms of harm to a 3rd party. The answer then exemplifies that with good support from the context. 























jon

Sticky Note

The final answer is brief, possibly due to time constraints. In a concise way the answer uses one of the actions and explains with some inaccuracy why and how it could help solve the market failure with good understanding of market failure evident, so bod applied. There is limited evaluation and judgment through a generic counterpoint, whilst the inequality argument was a negative consequence in contrast to debating the extent the actions could solve the market failure. 
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2. APLASTIC WORLD

According to the United Nations, marine life is facing irreparable damage from the millions
of tonnes of plastic waste which ends up in the oceans each year, possibly due to a lack of
property rights.

Plastic is used across many industries including clothing, cooking and catering, product

5 design, engineering and retailing. US scientists have calculated the total amount of plastic ever
made and put the number at 8.3 billion tonnes with half of this material being made in the last
13 years. Sources of plastic waste include single use plastics such as bottles and packaging,
plastic bags, consumer products such as wet wipes and personal care products.

Plastic production by industrial sector
Global plastic production by industrial sector allocation,
measured in tonnes per year

Packaging 148 million tonnes

I \
Building and Construction 65 million tonnes

Other sectors 59 million tonnes

Textiles 47 million tonnes

Consumer and Industrial Products 42 million tonnes

[
27 million tonnes

18 million tonnes

Transportation

Electrical/Electronic

Industrial Machinery [ 3 million tonnes

0 tonnes 40 million 80 million 140 million
tonnes tonnes tonnes

There is an environmental impact from plastic pollution as it pollutes the ocean. There is a

10 danger of sea birds and larger marine creatures like turtles, dolphins and seals, becoming
entangled in plastic bags and other debris, or mistaking plastic for food. Plastic bags, once
consumed, cause internal blockages and usually result in death. Over time, plastic waste
slowly degrades and breaks down into tiny micro-plastic fragments which are also causing
scientists concern as it can enter the food chain.
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Another cause of micro-plastic fragment pollution is microbeads (tiny plastic particles usually
smaller than two millimetres) added to personal care products such as exfoliating face scrubs and
whitening toothpastes. A single cleansing product could contain as many as 360000 microbeads,
but these can be replaced by natural ingredients. Microbeads are made from synthetic polymers
such as polystyrene and are listed in the ingredients on the packaging, normally in small labelling
on the back of the product. The USA has banned microbeads which has raised awareness of

the problem in the UK. Online websites started listing products with microbeads and the media
raised further awareness. In January 2018 the UK Government banned plastic microbeads in the
manufacture of cosmetics and personal care products in the UK.

Other UK Government initiatives to reduce the impact of plastic waste include use of
government subsidies for greener processes.

*  £4 million to support innovative ideas that reduce persistent plastic waste

»  £16 million package with the focus on developing new recyclable plastic materials and new
more efficient recycling processes.

*  £16.4 million on improving waste management at a national and city level to stop plastics
entering the water.

In 2015 the plastic bag fee came into effect in England. The Government introduced a law
requiring all supermarkets and large stores to charge a minimum of 5p for every single-use
plastic carrier bag they handed out. In 2014, before the charge was introduced, the seven main
supermarkets handed out the equivalent of 140 plastic bags per member of the population. That
fell to 10 bags by 2019 as consumers recycled existing bags and switched to re-usable ‘bags for
life’. A similar shift in behaviour could be seen in local convenience stores, although people tend
to buy on impulse and smaller quantities from these shops.

In 2019 the Government consulted with businesses about increasing the 5p charge to 10p and
to extending the scheme to all shops from 2020. Other initiatives proposed by the Government
included a tax on the manufacture or import of plastic packaging which contains less than 30%
recycled plastic.

© WJEC CBAC Ltd. (B520U20-1) Turn over.





() (i) Using the data, outline how the use of plastic can create external costs. [4]

(i) To what extent are the steps taken by the UK Government to reduce plastic
pollution likely to solve the market failure? [10]
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